o2 1A H 0= aABC 9] @J4o|th/CAO = 40°, LABO =
25°< off, /BCO 2] 2712

D 22° ® 35° 3 20° @ 30° (B 25°



2. oS a4 A 05 AABC Q] ¢JA4lo|t}. L OBC = 40°, /ACO =
30°Y o, /x Q] 37]%9

A

40° 30

@D 15° ® 20° ® 25° @ 30° B 40°



o2 2™ H 0E AABC 9] @4 et} LOAB = 10°, LOBC =
30°, LOAC 9] A7]=?

@D 40° ® 45° 3 50° @ 55° 3B 60°



o3 I3 Zo]l AABCAA H O eAHelth. /OAC = 35°,
/OCB =30°Y o], zx 9] Z& L5toiat.

A
35°

30°

e
Q



5. & I"A A 0= AABC O] €J4olth L0CB Y] A7]=?

A
35°

e
Q

@D 20° ® 25° ® 30° @ 35° ® 40°



A 0 = AABC 9] 9]4o]t}, /BOC = 120° ]2, AOBC 9] Ed¢]

2ol

+ 26cm, BC = 12cm € ©, /BAC = x° 0|1, OB += yem ©]2t
Rk xty O g Ftolet. (2, 99 A2

A
[>

120°

T--12cm- -



7. ohe 294 A 07 479 ABC Y 9189 1, 1x 9] A7) T8
o,




8. ©S ™A A 07 aABC Q] A olatx & ufj, ,OBC = 48°
oltt, /x9] A7|=?

A

X

@D 40° @) 49° 3) 44° @ 46° (B) 48°



g

S 12| AABC o4 H 0 & 2]4e]1 LAOB : .COA : /BOC =
:3:4 9 o, LABC 9] 27]E F5foizt,

A

Q



10. o3 1389 AABC oA H 0= ¢4lo]al LAOB : .COA : /BOC =

5:6:7 9 9, LACB 9] A7]|& F5HH?

A

@D 40° ® 50° 3 60° @ 170°

®B 80°



11. o2 AABC 9] 942 0 2t

mol‘

Faf, 2x o] 2717

@ 10° @ 20° @ 30° @ 40° @ 500



12. oS 192 AABCOA H 0+ 24oltt. /OAB = 35°, /OBC =
25°d o, ,CQ A7)=9

v
k)
Q

@D 40° ® 45° B 50° @ 5h° B 60°



13. o3 I™oA H O+ aABC 9] oot} /ABO = 30°, /OBC =
10°9 o, /A Q] 27| E 7o}l

A




14. o3 283 Zo] AABCY| 0] F4lo] A 0=kl & o, LOBC =
30°, ZOCA = 34°°]t}, zx + 1y 9] 275 F5loie}.

A
£\

300 Y/

=
@



15. AABC o)A HO & ¢JAlo]tt. ,ABO = 30°, /OBC = 34° & 9]
A& o, LAOC 9] A7]& A L.

A
D
/[ 34°
B B C



16. o2 1A H O = AABC 9] 2J4]o|t}.
/OAB = 20°, 1OBC = 35° ¥ o}, /C 9
3715 F-ofof=t

35°

Q



17. o2 1789 ABC oA H 0 & ¢JHoltt. LOCA = 34°, /OCB =
18° A off, /OBA 9] 3712

@D 18° ® 34° B 36° @ 38° B 52°



18.

o2 18oflA 2 O+ AABC 9] @J4lelil, /OCB = 40° ¥ o, /BAC
o] A71& s

A

A

@ 50° @ 55° A 60° @ 65° B 70°



19. o5 293} 22 AB = AC?] o] 5H4Z3 ABC| HisiA & B
oA 214 05 714 W AC7HA] A2 BDE 230t A =80° < o,

(ABD 9] 27]=7

=1pe=

@D 30° @ 35° ® 40° @ 45° ® 50°



20.

g 28 H 07F 4ZrE ABC 9 €40l /ABO
20°, /AOC =100°¥ W], /x 2] 27]=?

@D 100° ® 105° 3 110° @ 115° B 120°



21. oS oA ¥ 0= AABC O] FHYo|th. LOCB = 35°Y o,
(BAC 2] 7|5 Fstof=t

A




22, oS P} 28 AABCOA /A :/B:/C=2:3:4°0]12 4 0O
AABC O] QA Y o, 1x 0] 7] & Fétoia}.

A

rr






24.

BYAHFABCD oA B = 52° o] H 0, O
AABC, ACDA ©] ¢]4lo]t}, ol LOA0Q’ ©] 27|12

rlo
N
N

@D 52° ® 52° B 76° @ 104° G 116°



25. the 1elA A 0 £ aABC 9] 9l4olth /BOC = 100° & T, /A
o] 271% oozt

A

100°




